ADVANCED X CHALLENGE

(PLATINUM + 2)
20 x 10 = 467.5 x 1000 = 10% of 480 =
400 + 100 = 50,000 + 1000 = 10% of 3600 =
30 x 1000 = 243.8+10 = 1% of 860 =
0.73 x 100 = 30x 10 = 7500 + 1000 =
65 + 100 = 1.879 x 100 = 9+10=
0.08 x 10 = 270 + 1000 = 10% of 1000 =
0.12 x 1000 = 0.7x10= 10% of £5.30 =
41,200 + 1000 = 0.5+ 10 = 10% of £17.20 =
5490 + 100 = 0.003 x 1000 = £12,450 + 1000 =
8240 x 100 = 450 + 100 = 1% of 5000m =
0.95 x 10 = 8 x 1000 = 10% of 60m =
24+ 10 = 3,600,000 + 1000 = 10% of £986.30 =
472.4 % 100 = 46,324 + 100 = 10% of 87 =




ADVANCED X CHALLENGE
(PLATINUM + 2) ANSWERS

20 x 10 = 200

467.5 x 1000 = 467,500

10% of 480 = 48

400 + 100 =4

50,000 + 1,000 =50

10% of 3,600 = 360

30 x 1000 = 30,000

243.8 + 10 = 24.38

1% of 860 = 8.6

0.73x 100 =73 30 x 10 = 300 7500 + 1000 = 7.5

65 + 100 = 0.65 1.879 x 100 = 187.9 9+10=0.9
0.08x10=0.8 270 + 1000 =0.27 10% of 1000 = 100
0.12 x 1000 = 120 0.7x10=7 10% of £5.30 = 53p
41,200 + 1000 =41.2 0.5+10=0.05 10% of £17.20 = £1.72

5490 + 100 = 54.9

0.003 x 1000 = 3

£12,450 + 1000 = £12.45

8240 x 100 = 824,000

450 + 100 =4.5

1% of 5000m = 50m

0.95x10=95

8 x 1000 = 8000

10% of 60m = 6m

24+10=24

3,600,000 + 1000 = 3600

10% of £986.30 = £98.63

472.4 x 100 = 47,240

46,324 + 100 = 463.24

10% of 87 = 8.7




